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ƅ  ƅ           ƅʥʦʩʪʴ ʠƅʣʝʩʥʦʝƅ ʩʚʷʟʴƅ ʠ ʠʥʘʷ  ƅʥʝʥʠʝ, ƅ ʩʪʨʘʭʦ-ƅ     ƅ 

ƅ  ƅ           ƅʩʪʨʦʠ- ƅʭʦʟʷʡ-ƅʠ ʛʝʦ-ƅ ʬʠʥʘʥ-  ƅʦʙʨʘʟʦ-ƅ ʚʘʥʠʝ ʠƅ     ƅ 

ƅ  ƅ           ƅ ʪʝʣʴ- ƅ ʩʪʚʦ ƅ ʣʦʛʠʷƅʩʦʚʦ-ʵʢʦ-ƅʚʘʥʠʝ, ƅ ʜʨʫʛʠʝ ƅ     ƅ 

ƅ  ƅ           ƅ ʩʪʚʦ  ƅ      ƅ      ƅ  ʥʦʤʠ-  ƅʥʘʫʢʘ, ƅ ʦʪʨʘʩʣʠƅ     ƅ 

ƅ  ƅ           ƅ       ƅ      ƅ      ƅ ʯʝʩʢʘʷ  ƅ ʢʫʣʴ- ƅ        ƅ     ƅ 

ƅ  ƅ           ƅ       ƅ      ƅ      ƅʜʝʷʪʝʣʴ- ƅ ʪʫʨʘ, ƅ        ƅ     ƅ 

ƅ  ƅ           ƅ       ƅ      ƅ      ƅ  ʥʦʩʪʴ  ƅʠʩʢʫʩ- ƅ        ƅ     ƅ 

ƅ  ƅ           ƅ       ƅ      ƅ      ƅ         ƅ ʩʪʚʦ  ƅ        ƅ     ƅ 
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ƅ1 ƅɹʘʪʢʝʥʩʢʘʷ ƅ   450.5 Tm
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